
spare parts list 
Junio-Stripper 18V EU

Uzin Utz Tools GmbH & Co. KG | Ungerhalde 1 | D-74360 Ilsfeld 
Telephone: +49 (0)7062 91556-0 | Telefax: +49 (0)7062 91556-44 | www.wolff-tools.com 



Table of contents

Page 2 / 16 31.03.2024

1 Junio-Stripper 18V (0001/2020 - heute)           3
1 Adapter flange           4

1 Battery angle grinder L125-18.0V           6
2 Bearing plate           8
3 Striking foot         10
4 Plates           12
5 Tool kit           14
6 Accessory           16



1 Junio-Stripper 18V (0001/2020 - heute)

Page 3 / 16 31.03.2024

Item no. Article no. Description

1 01_01_010327 Adapter flange

2 01_02_010327 Bearing plate

3 01_03_010327 Striking foot

4 01_04_010327 Plates

5 01_04_016876 Tool kit

6 01_06_010327 Accessory



1 Adapter flange

Page 4 / 16 31.03.2024



1 Adapter flange

Page 5 / 16 31.03.2024

Item no. Article no. Description Quantity

1 089621 Battery angle grinder L125-18.0V 1

2 010336 Adapterflansch Akku Junio L125-18.0V 1

3 016961 Snorr washer M4 4

4 017725 Cylinder head screw M4x20 DIN 912 4



1 Battery angle grinder L125-18.0V

Page 6 / 16 31.03.2024



1 Battery angle grinder L125-18.0V

Page 7 / 16 31.03.2024

Item no. Article no. Description Quantity

5 159273 Screw ST4 2x22 L125-18V 4

21 159275 Nut Housing M6 L125-18V 1

22 159276 Pinion Z14 housing L125-18V 1

23 159277 Dust washer 15,6x7x0,2 L125-18V 1

32 159279 Air deflector L125-18V 1

33 159281 Magnetic field L125-18V 1

34 159323 Screw 2,2x6,5 L125-18V 3

35 159324 Electronic module L125-18V 1

36 159326 Screw 2,9x16 L125-18V 5

37 159328 Switch button L125-18V 1

38 159331 Switch Actuator L125-18V 1

49 housing assy 1

50 159333 Dust cover LE/RI Set L125-18V 1

201 159272 Gearbox housing cpl. L125-18V 1

202 159274 Gear shaft cpl. L125-18V 1

203 159278 Anchor cpl. L125-18V 1



2 Bearing plate

Page 8 / 16 31.03.2024



2 Bearing plate

Page 9 / 16 31.03.2024

Item no. Article no. Description Quantity

1 017586 Bearing plate new HS 800/Junio 1

2 017888 Handle Handstripper Junio 1

3 014929 Rubber bearing Junio Stripper 4

4 014923 Grip cover/foam 1

5 014859 Schnorr washer M6 5

6 014728 Cylinder head screw M6x14 DIN 6912 3

7 014747 Safety screw M6x10 4

8 014730 Cylinder head screw M 6x20 DIN 912 2



3 Striking foot

Page 10 / 16 31.03.2024



3 Striking foot

Page 11 / 16 31.03.2024

Item no. Article no. Description Quantity

1 010349 Eccentric disc Akku Junio L125-18.0V 1

2 015187 Striking foot Junio 1

3 014703 Ball-bearing 6004 1

4 014747 Safety screw M6x10 4



4 Plates

Page 12 / 16 31.03.2024



4 Plates

Page 13 / 16 31.03.2024

Item no. Article no. Description Quantity

1 013998 Spare blades 120 mm x 1,0 mm 1

2 015317 Blade protection 135mm 1

3 014747 Safety screw M6x10 3

4 010930 Battery pack 18V/5Ah/Li 90Wh 1



5 Tool kit

Page 14 / 16 31.03.2024



5 Tool kit

Page 15 / 16 31.03.2024

Item no. Article no. Description Quantity

1 013998 Spare blades 120 mm x 1,0 mm 1

2 015317 Blade protection 135mm 1

3 033199 Measurer bag Junio 1

4 017612 Double fork wrench sw10/13 mm 1

5 015809 Safety gloves 1 pair 1

6 015315 Hearing protectors 1



6 Accessory

Page 16 / 16 31.03.2024

Article no. Description Quantity

010758 Carrying case midi3 SEE 171220 1

010663 Insert Systainer Junio-Stripper 18V 1

010930 Battery pack 18V/5Ah/Li 90Wh 1

010939 Charger Akku.18V 230V/50Hz 1

014000 Spare blades, 200 mm x 1,0 mm 1

013998 Spare blades 120 mm x 1,0 mm 1

015519 ZZSpare blades f. Combi-Stripper, 135 mm 1

033199 Measurer bag Junio 1

Powered by TCPDF (www.tcpdf.org)

http://www.tcpdf.org

	Table of contents
	1 Junio-Stripper 18V (0001/2020 - heute)
	1 Adapter flange
	1 Battery angle grinder L125-18.0V

	2 Bearing plate
	3 Striking foot
	4 Plates
	5 Tool kit
	6 Accessory


